
 

 

 

 

  
�� ا���اد ا�
���� �	� �� ا�	��ل )ن1.5( :ا�
	��� ا�ول�  :أ

1300> 1256>1200 
   ..........>3487>............... 

...........>5025>............. 
  ...........> 7899>............. 

  
  ) .×أو  +( أ6�5 ا�,�34 12 أ0/ ا�.	-�� ا�	,�+*� :)ن1.5(:ا�
	��� ا���(�

  
( 2 … 4 ) … 3 = 18                                5 … ( 2 …3 ) = 25 
( 5 … 5 ) … 4 = 40                        6 … ( 1 … 5) = 36 

     3 ….. 2 ..… 7 = 35                             10 … ( 3 … 6 ) = 90  
  

  :أ�=ل إ�@ ا�=��ة ا�	<-=>�)ن1.5(:ا�
	��� ا����;

  1 L= ………mL                             3 L= ……….DL 
     2000 mL= ……L5L = ………CL 

= ……….CL    800 CL= ……..L F�)�
�  
 


1�G ا )ن1.5(:ا�
	��� ا��ا>/H	�ا �.>I J�-� ��� 12 �	�G
HK �>L 1+ر[AB ] �R�=6طcm .  
                                 �>G,�ا ���
C  1�Gـ H	�ا �.>I F�
,K[AB ].  

  �>G,�ا @-�  .Cـ >�+
.	�ل ا�W=س ار+1 �	=دا 
   �R+رأ �
  ؟ Cـ ��H) F	� ا�Xاو�� ا�
  

��Z�K=0.�� ا]د�-^ �[ح : )ن4(ا	2[ث � J� `a

�ا �K ا�e�-f ، >�ع �G<125 J,Kات أ(�  

�ا أK hI	� >�ع �� ا��*�ح   36�
�ا و�� ا�	�Hء  ��64 ا��*�ح �.  


�ا �K ا�e�-f  >�ع ا�j[ح �� ا�	�Hء ؟  – 1    � 1�  

�ا >��J �� ا��*�ح و ا�	�Hء ؟ – 2   � 1�  

�ا > �G�J ؟  – 3  � 1�  
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=ى H	�ا :�lا�
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